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Jooboboboobobobouodddd

03000,00000 GUOOOOD,00000000 Lie(G)ODDOOO,0000
exp: lLie(G) - GUO0O0OD0O00OU0OOOOOOOOOOOOD. O0DO0ODO,00000
goooob,bbooobobodgd:

o GOOOODODOD Lie(G) 0000000000 (4.10),
o 00000000000000000000000000,0000000000
00000000000 (4.20).

oo, djgooooooboobooboboddooooooobbobbbbobooooog
g.ogoggooob,dgoboboogobobooobobobooobob,boo0ooobooog
goobobboooouobbooooubb. b, obbbooooboboo
ggobo,b0bboooobboooobobooooobo.

oboobo,0100000Db000,02000000D00,030Db0000DO
oo ooboboobobb. bobobobobobbb,00d0ooon
gogoboboooobboboooooo.

41 OJO0O0OOOOOODODOOOOO0
000 §320000,GL,(R) 0000000 GOOOO,
Lie(G) :={X € M, (R) | exp(sX) € G (Vs € R)} (4.1)
0o0o0000000O0O0O0O000. 0000,0000:

00 4.1.1 GO GL,(R) 00000000000, Lie(G) O gl,(R) 00000000
000 (00 Lie(G) 0 GOOOO0O0O0O0O0O000 0O00).
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040 000000000000O00000

411 00,000000 10000000000O. §4.1.200,1 00000000
0,0000000000000D00. §4.1.300,000000000000000.
4.1400,0000000,00 41.100000.

411 100000

O000,00000 GOO 1000000000, 00000000000000.

00 41.2 GO GL,(R) 0000000000, 000 X e M,(R)0000,00
cx :R— G:s+— exp(sX) (4.2)

0 C~-000000,0000000000 (00 ex 0 XO00000 1000007
ooo).

O0. C*-00000000000.00 ¢x 0,00
ix :R— M,(R):s—sX (4.3)

O0000 exp: M,(R) = GUO0O00O0O0O0O0O. 0000 cx =expoix. 00O ix O
0000 C*-0000,00 expUOOO 31800 C*-000000,0000000
c*-0000.00ooooooo,0ooon

Cx(Sl + 82) = Cx(Sl)Cx(SQ) (\V/Sl,SQ € R) (44)
Oo0o0o0oo0oodo,on 3d.150000000. O

00,1 000000000000000000. 0000 exp00000O0000O0O
0,0000.

00 4.1.3 00000 GO 100000 ex(s)=exp(sX) 0000, 000000:
x(0) == “Lex(s)|s=0 = X. (4.5)

00.1000000,(4.3)000000000000 ex =expoix 00000. O
0000000 dexpd,00 3.1.700

(dexp)o(Y) =Y (VY € My (R)) (4.6)

gobbooo,jgobboooobobboooobb. oo,
x(0) = d(cx)o(1) = d(expoix)o(1) = d(exp);y (o) © d(ix)o(1) = X (4.7)

goo,b0booggon. U

*1 one-parameter subgroup



4.1 00000000000 O0O00O00O0O 39

412 OO0OOOOOO

0000, 00000000000,10000000000 AdOOODOOOOOO
00000000. 0 eeGL,(R) D000, 0000 Ad, O

Ad, :gl,,(R) — gl,(R) : X — aXa™* (4.8)
000000000000 (00 2.5.1).
00 414 GOO00000O00. 000 X,Y €lie(G)0000,000000:
LAdey (5)(Y)]s=0 = [X,Y]. (4.9)

00.000 X,Y elie(G)000.00000000,¢x 000000 (00 4.1.3)
ooooo,

%Ach(S) (Y)|s=0 = %CX (8)Y (ex (S))_l |s=0
1

= (0)Y (ex(0)) ™ — ex (0)Y ¢y (0)(ex (0)) 2
=XY -YX
= [X7 Y]

gob.goguoooooob. U

0000000000,ex 0,¢0)=e00 ¢(0)=X0000000 C*°-0000
00O0O000,0 (49 00000.
413 0000000000

0000,00000 GUOODODODODO0OCOCOD.0O0OD0OO,D0000 expOODDOO
00 I0000000.0eeGL,(R)0D0DO0O,000000 1,0

I, : GL,(R) — GL,(R) : g — aga™! (4.10)
000000000000 (00 1.5.1).
00 415000 aeGL,(R)0000,000000: expoAd, = I, o exp.

O0.00000 32700000, U

000000,00000 GO Lie(G)ODOOOOOOOOOO.
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040 000000000000O00000

OO0 4.1.6 GOOOODODODOO,ee GUOO. ODOOO,000 XELie(G)DDD
D,Ada(X)ELie(G)DDDDD.DDDDDDDDDDDDDDD GUOOoooo* Qg
O0:

Ad, : Lie(G) — Lie(G) : X +— aXa .
00.000 a€GO X€eLie(G)OODD. 00000 Ady(X) € Lie(G) 00O, O
00 seROOO. 000,00 415000 oOo0O0OooooOO,
exp(sAd, (X)) = exp(Ad,(sX)) = I (exp(sX)) = aexp(sX)a~' € G

00000.000 Ad(X) €eLie(G) D0OD0OO. U

414 O0O0OOOOOOOO

O000,00 411 000.0000,00000 GOOOD0OOOOOO. OO 3.24
00,GO000000000, Lie(G) 0000000000, DDOO,00000000
0000000,G0000000000,GO000000 Lie(G)OOoOoooooag
goooogd,goooooon.

00 4.1.7 GO GL,(R) 0000000, Lie(G) 0 M,(R)00ODO0000O0000
000.0000,Lie(G) 0000000000,

00.0000 Lie(G) O M,(R) 00000000000, Lie(G) 00000000
0000000000000, 000 X,Y elie(G)000. XO0OOOO 10000
00 ex(s)=exp(sX)eGOOOOOO,00 41600,

v(s) := Ad., (5)(Y) € Lie(G)
goooo. oo f}/(s)D sgoooooooo Lie(G)DD ce-00poooo.ogo
Lie(G) DOOODOOOODDOOOOO,
7'(0) = lim(1/5)(7(s) — 7(0)) € Lie(G)
OOoOdooO. 00 4.1.400,
Lie(G) 7'(0) = fAdey (5)(Y)]s=0 = [X, Y]

oo, oo Lie(G)DDDDDDDDDDDDD. oooo Lie(G)DDDDDDD
god. Il

00000000000 0000000000D0O000 83.22000.

*2 adjoint action of G
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42 OD0O0OOO0OO0OO0OO0O0OO0OODODOOOOOOOn
00000,000000000.

00 4.2.1 G1,G. 0 GL,(R) 00000000 0O0. 0000,G, 0 GeOOOOO
0000000000000, 000000000000000 Lie(Gy) O Lie(G2) O
gogoboooooon.

0000000 §4.210,0000000 84.220,000000. 00000000
000 [, 00000000,0000000000 Ad, DDO0ODODOODOOO. OO
000000000000 o0oD (00 415 000,0000000.

421 0O0O0OOOO

000000 421 0000000000. 00000,00000 GOoOOOOOO
0000 Lie(G)0,GUO0O0O0D000O0OOOOODOOOOOOD.

00 4.2.2 GO GL,(R)D00DO00oU0oOoUO. 0000, 000 e>00000,0
goooo:

Lie(G) ={X € M,,(R) | Vs € (0,¢), exp(sX) € G}.
00.0000 (¢)0oo0oooooooo. (o)oo0. 000000 Xooo.
000 seROODD. D0D00 exp(sX)eGUOO. 000 s=000000000

00,s#0000000000.0000 meZOOOO0OOO s/me(0,e)000.
0000 exp((s/m)X)eGOO0. 00 315000 GOOOODOOOOO,

exp(sX) = exp(m(s/m)X) = (exp((s/m)X))" € G.
000 Xelie(G)OOOOO. U

oooooo,00 421 000000D0.

00 4.2.3 G, G, 0 GL,(R)0000000000.0000,G,0 G, 00000
000,0000000000 Lie(Gy) O Lie(Ge) 00O0O0ODO.

Oo0.0000000,G, 0 G, 00000D0DOO,000000000000D0O0O
00, Lie(Gy) O Lie(Gy) DO00O0ODOOO0ODOOO (ODD 422)00,000000
goo.ooobobooo,goooo.
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040 000000000000O00000

0000 Gy 0 G,00000000,0000,G, 0000000 Uy,G,0000
000 U, 000 acGL,(R) 0000000, I,(U;))=U,00000. 00000
Lie(G;) O Lie(G;) 00000000000, 0000000:

Ad,(Lie(G1)) = Lie(Go). (4.11)
goooooo:

Ad,(Lie(G1)) C Lie(Ga). (4.12)

000 X € Ad,(Lie(G1)) 00D0. D000 Y e Lie(G,) 0000 X = Ad,(Y) OO
0000000.00000 X elie(G,) 000. 000,00

iy : R — Gy : s+ exp(sY) (4.13)
Oooooo,U,0 Gyoooooooo,
de >0 :Vse(—¢e), exp(sY) € Uy (4.14)
00000.00e>00000,00 42200,
Lie(G2) ={X € M, (R) | Vs € (0,¢), exp(sX) € G} (4.15)
000.000 s€(0,e) 000. 00000 4150 e00000O0

exp(sX) = exp(sAd,(Y)) = exp(Ady(sY)) = I, (exp(sY)) € I,(U1) =Us  (4.16)

00000.000 X elie(G,) 00000.0000 (412)00000
0oooo I,.(U,) =0, 000000000000,000 (412)0000000
oo,

Ada_1(Lie(G2)) C Lie(Gl) (417)

00000, (412)0 (4.17) 0000, (4.11) 00000, 0

422 000000

000000 421 0000000000.0000,0000000000 expOO
O0000oo0ooo (0o 334)000000.

00 4.2.4 G1,G, 0 GL,(R)0000000000.0000,0000000000
Lie(G;) O Lie(G,) 000O000,G, 0 G, O00O0OD0OO0OO.
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00. 0000000, Lie(Gy) O Lie(G,) 000000,000000000000
0,G 0 Lie(G;) 000 G, O Lie(Gy) 000000000 (00 3.34) 000, O
0000000 G0 G, 000000000000000. 00000000,000
oo.

0000 Lie(Gy) O Lie(Gy) 000000, aeGL,(R)000000OO,

Ad,(Lie(G1)) = Lie(G») (4.18)
ogoooo. ooooo, [,0000 G0 G 00doooooooooooooon

0.0033400,G,0000000 U}, Lie(G;)0 0000 V{,G, 000000
0 U}, Lie(Go) 0 0000 V0000000,

exp: V| = U, exp:Vy— U, (4.19)
gooooooobobo. ooo,

Vi = ‘/1/ N Ada—l(VQI), Vo= Ada(‘/ll) N Vg (420)

000.0000 V,0 V20,0000 Lie(Gy) O Lie(Gy) 0 0000000. 000
ooQg

Ad, (V1) = Ad, (V) NAd,-1(V3)) = Ado (V)N Vy = V4 (4.21)

ggoboboooob. oon

Uy :=exp(V1), Us:=-exp(Va) (4.22)

oooo,U,,U, 00000 Gy, G OOODOODODOOD. ODOO,00 415000
(4.21) 00O,

I,(Uy) = 1, o exp(V1) = expoAd, (V1) = exp(V2) = Us (4.23)

000.00000,G;0 G;O0O0oooooo. U



